

## ON THE HOMOGENEOUS BI-QUADRATIC EQUATION WITH FIVE UNKNOWNNS

S.A. Shanmugavadivu<sup>1</sup>, R.Anbuselvi<sup>2</sup>

<sup>1</sup>Professor, Department of Mathematics, T.V.K. Govt. Arts College, Thiruvarur - 610003, Tamil Nadu, India. Email: [sashanmuga25781@gmail.com](mailto:sashanmuga25781@gmail.com).

<sup>2</sup>Professor, Department of Mathematics, A.D.M. College for Women(Autonomous), Nagapattinam-611001, Tamil Nadu, India. Email: [anbuselvi134@gmail.com](mailto:anbuselvi134@gmail.com).

### **ABSTRACT**

The Bi-quadratic equation with five unknowns given by  $4x^2 - 4y^2 = 34(4z^2 - 4w^2)T^2$  is analyzed for its patterns of non-zero distinct integral solutions. A few interesting relations between the solutions and special polygonal numbers are exhibited.

**Keywords :** Bi-Quadratic equation, Integral solutions, Special polygonal numbers, Pyramidal numbers.

### **INTRODUCTION**

Bi-quadratic Diophantine Equations(homogeneous and non-homogeneous) have aroused the interest of numerous mathematicians since ambiguity as can be seen from [1 – 7]. In the context one may refer [8 – 16] for varieties of problems on the Diophantine equations with two, three and four variables. This communication concerns with the problems of determining non-zero integral solutions of yet another bi-quadratic equation in five unknowns represented by  $4x^2 - 4y^2 = 34(4z^2 - 4w^2)T^2$ . A few interesting relations between the solutions and special polygonal numbers are presented.

### **NOTATIONS**

- ❖  $t_{m,n}$  = Polygonal number of rank n with size m
- ❖  $P_m^n$  = pyramidal number of rank n with size m
- ❖  $Pr_n$  = pronic number of rank n
- ❖  $SO_n$  = Stella octangular number of rank n
- ❖  $j_n$  = jacobthal lucas number of rank n
- ❖  $J_n$  = Jacobthal number of rank n

- ❖  $Gn_{0n}$  = Gnostic number of rank n
- ❖  $Cp_n^6$  = Centered pyramidal number of rank n with size m
- ❖  $Cp_n^{14}$  = Centered tetra decagonal pyramidal number of rank n
- ❖  $Ky_n$  = Kynea number of rank n.

**METHOD OF ANALYSIS**

The Diophantine equation representing the Bi – Quadratic equation with five unknowns reader consideration is

$$4X^2 - 4Y^2 = 34(4Z^2 - 4W^2)T^2 \text{ ----- (1)}$$

on substituting the linear transformation

$$x = 2u + 2v, y = 2u - 2v, z = 4u + 4v, w = 4u - 4v \text{ -----(2)}$$

In (1) leads to

$$u^2 + v^2 = 17T^2 \text{ ----- (3)}$$

**PATTERN – I**

In equation (3) can be written as,

$$u^2 + v^2 = 17T^2$$

$$u^2 - T^2 = 16T^2 - v^2$$

$$(u + T)(u - T) = (4T + v)(4T - v)$$

$$\frac{u+T}{4T+v} = \frac{4T-v}{u-T} = \frac{a}{b} \text{----- (4)}$$

This is equivalent to the system of derivable equations

$$-ua + Ta - vb + 4Tb = 0$$

$$-ua - vb + T(a + 4b) = 0$$

Applying the method of cross multiplication, we have

$$\left. \begin{aligned} u &= -a^2 + b^2 - 8ab \\ v &= 4a^2 - 4b^2 - 2ab \\ T &= -(a^2 + b^2) \end{aligned} \right\} \text{-----(5)}$$

Substituting the values of u and v, we get the non - zero integer solutions are,

$$x = 6a^2 - 6b^2 - 20ab$$

$$y = -10a^2 + 10b^2 - 12ab$$

$$z = 12a^2 - 12b^2 - 40ab$$

$$w = 20a^2 + 20b^2 - 40ab$$

$$T = -(a^2 + b^2)$$

**PROPERTIES :**

1.  $z(a(a+1), a+2) - 12T(a(a+1), a+2) - 288FN_a^4 - 3T_{4,4a} - 48CP_a^6 + 240P_a^3 = 0$
2.  $T(3a^2 - 1, a^2) + 10T_{4,a^2} - 6T_{4,a} + 1 = 0$
3.  $x(2a^2 - 1, a) - 288FN_a^4 + T_{14,a} + 20So_a \equiv 6 \pmod{5}$
4.  $y(a^2, a+1) + 10T_{4,a^2} - 10(obl)_a + 24PP_a \equiv 10 \pmod{10}$
5.  $x(a(a+1), a) - 6T(a(a+1), a) - 144FN_a^4 - 6T_{4,2a} - 24CP_a^6 + 40P_a^5 = 0$
6.  $T(a^2, a+1) - 17T_{4,a^2} - T_{4,a} - 136PP_a \equiv 1 \pmod{2}$
7.  $w(a, 4a-3) + 12T(a, 4a-3) + 32T_{4,2a} + 40T_{10,a} \equiv 72 \pmod{192}$

**PATTERN – II**

$$\text{Assume } T = T(a, b) = a^2 + b^2 \text{ ----- (6)}$$

$$\text{Write } 17 = (1 + 4i)(1 - 4i) \text{ ----- (7)}$$

Using (6) and (7) in (3) and employing factorization it is expressed as which is equivalent to the system of equations

$$\begin{aligned} (u + iv) &= (1 + 4i)(a + ib)^2 \\ (u - iv) &= (1 - 4i)(a - ib)^2 \text{ ----- (8)} \end{aligned}$$

Equating the real and imaginary parts, we have

$$\begin{aligned} u &= a^2 - b^2 - 8ab \\ v &= 4a^2 - 4b^2 + 2ab \text{ ----- (9)} \end{aligned}$$

Substituting (9) in (2), we get integer solutions

$$\begin{aligned} x &= 10a^2 - 10b^2 - 12ab \\ y &= -6a^2 + 6b^2 - 20ab \\ z &= 12a^2 - 12b^2 - 40ab \\ w &= -20a^2 + 20b^2 - 24ab \\ T &= -(a^2 + b^2) \end{aligned}$$

**PROPERTIES :**

1.  $2x(a(a+1), 2a+1) + w(a(a+1), 2a+1) - 288P_a^4 = 0$
2.  $2y(a, 5a-3) + z(a, 5a-3) + 160T_{7,a} = 0$
3.  $2x(a(a+1), 5a-2) + w(a(a+1), 5a-2) + 288HP_a = 0$
4.  $z(a, 2a^2-1) - 12Pr_a - 576(4FD_a) + 40So_a \equiv 12 \pmod{12}$
5.  $y(1, b) - 6T(1, b) + 24T_{3,b} + 20Pr_b - 20T_{4,b} = 0$
6.  $x(a, 2a-1) + 10T(a, 2a-1) - 5T_{4,2a} + 12T_{6,a} = 0$
7.  $2y(a^2, a+1) + z(a^2, a+1) + 160PP_a = 0$
8.  $2x(a, 2a^2+1) + w(a, 2a^2+1) + 144OH_a = 0$
9.  $y(a, 2a^2+1) - 6T_{4,2a^2} - 9So_a + 60OH_a \equiv 6 \pmod{9}$

$$10. 2y(a, 5a - 1) + 80T_{12,a} = 0$$

### PATTERN – III

Write 17 as

$$17 = (4 + i)(4 - i) \text{ ----- (10)}$$

$$\begin{aligned} 17 &= (4 + i)(a + ib)^2 \\ &= (4a^2 - 4b^2 - 2ab) + i(a^2 - b^2 + 8ab) \end{aligned}$$

Following a similar procedure as in pattern II the solution for (3) as follow

$$\begin{aligned} u &= 4a^2 - 4b^2 - 2ab \\ v &= a^2 - b^2 + 8ab \text{ ----- (11)} \end{aligned}$$

In view of (2) and (11) the solution of (1) are obtained as

$$\begin{aligned} x &= 10a^2 - 10b^2 + 12ab \\ y &= 6a^2 - 6b^2 - 20ab \\ z &= 20a^2 - 20b^2 + 24ab \\ w &= 12a^2 - 12b^2 - 40ab \\ T &= -(a^2 + b^2) \end{aligned}$$

### PROPERTIES :

- $3x(a(a + 1), b + 2) - 5y(a(a + 1), b + 2) - 816Tet_a = 0$
- $x(a, a + 1) + 10T(a, a + 1) - 5T_{4,2a} - 24T_{3,a} = 0$
- $y(2a + 1, 2a) + 80T_{4,a} \equiv 6 \pmod{16}$
- $10T(b^2, b^2 - 1) + x(b^2, b^2 - 1) - w(b^2, b^2 - 1) - 240(4DF_b) + T_{4,2a} - 624FN_b^4 - 12 = 0$
- $3z(a(a + 1), 5a - 2) - 5w(a(a + 1), 5a - 2) - 1632P_a^7 = 0$
- $6x(a, 2a^2 - 1) - 10y(a, 2a^2 - 1) - 272So_a = 0$
- $w(a(a + 1), 2a + 1) - 12T(a(a + 1), 2a + 1) + 6T_{4,2a} + 48CP_a^6 + 240P_a^4 + 24 = 0$
- $12x(7b^3 - 4b, 1) - 20y(7b^3 - 4b, 1) - 1632CP_b^{14} = 0$
- $z(a(a + 1), (a + 2)(a + 3)) - 5w(a(a + 1), (a + 2)(a + 3)) - 544PT_a = 0$
- $12x(a(a + 1), (a + 2)) - 20(a(a + 1), (a + 2)) - 6528TH_a = 0$

**PATTERN - IV**

From equation (3)

$$17T^2 - v^2 = u^2 * 1 \text{ ----- (12)}$$

$$\text{Assume } u = 17a^2 - b^2 \text{ ----- (13)}$$

$$\text{Write } 1 = (\sqrt{17} - 4)(\sqrt{17} + 4) \text{ ----- (14)}$$

Using (13) and (14) in (12) and employing the method of factorization,

$$(\sqrt{17} + v) = (\sqrt{17} + 4)(\sqrt{17} + b)^2$$

$$(\sqrt{17} + v) = \sqrt{17}(17a^2 + b^2 + 8ab) + (68a^2 + 4b^2 + 34ab)$$

Equating the rational and irrational parts, we have

$$v = 68a^2 + 4b^2 + 34ab$$

$$T = 17a^2 + b^2 + 8ab \text{ ----- (15)}$$

In view of (2) and (15), the solution of (1) are obtained as,

$$x = 170a^2 + 6b^2 + 68ab$$

$$y = -102a^2 - 10b^2 - 68ab$$

$$z = 340a^2 + 12b^2 + 136ab$$

$$w = -204a^2 - 20b^2 - 136ab$$

$$T = 17a^2 + b^2 + 8ab$$

**PROPERTIES :**

1.  $y(b, 4) + 102Pr_b \equiv 160(\text{mod } 170)$
2.  $x(a, 2a - 1) - 388T_{3,a} - 68T_{6,a} \equiv 6(\text{mod } 218)$
3.  $y(a, 2a^2 - 1) + 6T(a, 2a^2 - 1) + 16T_{4,2a^2} + 16T_{4,a} + 4So_a + 4 = 0$
4.  $T(a, a + 1) - 18T_{4,a} - 16T_{3,a} \equiv 1(\text{mod } 2)$
5.  $z(a(a + 1), 4a - 1) - 4080FN_a^4 - 132T_{4,2a} - 680CP_a^6 - 816P_a^6 \equiv 12(\text{mod } 96)$
6.  $T(a^2, a + 1) - 17T_{4,a^2} - T_{4,a} - 136PP_a \equiv 1(\text{mod } 2)$
7.  $w(a, 4a - 3) + 12T(a, 4a - 3) + 32T_{4,2a} + 40T_{10,a} \equiv 72(\text{mod } 192)$

**PATTERN - V**

Introduction to the linear transformation

$$v = X + 17R, \quad T = X + R, \quad u = 4U \text{ ----- (16)}$$

Equation (3) can be written as

$$X^2 = 17R^2 - V^2$$

$$X = r^2 + 17s^2, \quad R = 2rs, \quad U = r^2 - 17s^2$$

Thus we have

$$x = 10r^2 - 102s^2 + 68rs$$

$$y = 6r^2 - 170s^2 - 68rs$$

$$z = 20r^2 - 204s^2 + 136rs$$

$$w = 12r^2 - 340s^2 - 136rs$$

$$T = r^2 + 17s^2 + 2rs$$

**PROPERTIES :**

1.  $x(r^2, r+1) + 120FN_r^4 + 112 obl_r - 136P_r^5 \equiv 102 \pmod{92}$
2.  $z(r, 3r-1) + 1816T_{4,r} - 272T_{5,r} - 204Gno_r \equiv 0 \pmod{816}$
3.  $T(r(r+1), r+2) - 124DF_r - 38PP_r + 17CP_r^6 - 4P_r^3 \equiv 68 \pmod{68}$
4.  $y(r, (r+1)(r+2)) - 6T(r, (r+1)(r+2)) + 272T_{4,r} + 480Tet_r = 0$
5.  $w(2r+1, r(r+1)) + 20T(2r+1, r(r+1)) - 128 obl_r + 96P_r^4 = 32$
6.  $z(r, (r+1)(5r-2)) + 12T(r, (r+1)(5r-2)) - 2T_{4,4r} - 960HP_r = 0$
7.  $x(2,0) + 6T(2,0) - CP_r^6 = 0$
8.  $x(r, 3r-2) - 16T_{4,r} - 80T_{8,r} = 0$
9.  $z(r^2, 2r) + 120T(r^2, 2r) - 32 T_{4,r^2} - 320CP_r^6 = 0$

**PATTERN – VI**

We can write 17 as

$$17 = \frac{(20+i5)(20-i5)}{25} \quad \text{----- (17)}$$

The corresponding integer solutions are given by

$$u = 4a^2 - 4b^2 - 2ab$$

$$v = a^2 - b^2 - 8ab \quad \text{----- (18)}$$

Thus the corresponding solutions of (1) are found to be

$$x = 10a^2 - 10b^2 + 12ab$$

$$y = 6a^2 - 6b^2 - 20ab$$

$$z = 20a^2 - 20b^2 + 24ab$$

$$w = 12a^2 - 12b^2 - 40ab$$

$$T = -(a^2 + b^2)$$

**PROPERTIES :**

1.  $x(a(a+1), (a+2)) - 10T_{4,a^2} - 20CP_a^6 - 72TH_a \equiv 40 \pmod{40}$
2.  $6x(a(a+1), 5a-2) - 10y(a(a+1), 5a-2) - 552P_a^7 = 0$
3.  $6z(a, 13a-11) - 5w(a, 13a-11) - 544T_{15,a} = 0$
4.  $y(a, 2) - S_a + 3J_4 + j_3 \equiv 3 \pmod{34}$
5.  $x(a, 1) - 10Pr_a - Gno_a + 3J_3 = 0$
6.  $z(a^2, a) - 204DF_a - 24CP_a^6 = 0$
7.  $x(a, 5) - 6T_{4,a} \equiv 150 \pmod{100}$

**CONCLUSION :**

In this paper we have presented different patterns of non – zero integer solution of the Bi-Quadratic equation with five unknowns. One may search for other patterns of solutions and their corresponding properties.

**REFERENCE :**

- [1]. Dickson.L.E.,(2005), History of Theory of numbers,vol.2:Diophantine Analysis, New York, Dover.
- [2]. Mordell.L.J.,(1969),Diophantine Equations, Academic press, London.
- [3]. Carmichael.R.D.,(1959), The theory of numbers and Diophantine Analysis, New York, Dover.
- [4]. Lang.S.,(1999), A lgebraicNumber Theory.,Second edision, New York,Chelsea.
- [5]. Weyl.h., (1998),Algebraic theory of numbers,Princeton,NJ: Princeton University press.
- [6]. Oistein Ore,(1988),Number theory and its History,New York,Dover.
- [7]. T.Nagell,(1981),Introduction to Number theory, Chelsea(New York).
- [8].Cohnj.H.E.,(1971), The Diophantine equation  $y(y+1)(y+2)(y+3) = 2x(x+1)(x+2)(x+3)$  Pacific J.Math. 37,331-335.
- [9]. Mihailov,(1973),On the equation  $x(x+1) = y(y+1)z^2$ ,Gaz.Mat.Sec.A78,28-30.
- [10]. Leabey.W.J.,(1976),and Hsu. D.F,The Diophantine equation  $y^4 = x^3 + x^2 + 1$  Rocky Mountain J.Math.Vol.6,141-153.
- [11]. Cross J.T.,(1993), In the Gaussian Integers  $\alpha^4 + \beta^4 \neq \gamma^4$  ,Math.Magazine,66,Pp.105-108.
- [12]. Sandorszobo,(2004),some fourth degree Diophantine equation in Gaussian integers: Electronic Journal of combinatorial Number theory,Vol4, Pp.1-17.
- [13]. Gopalan ,M.A., Manju Somanath and Vanitha.N.,(2007), Parametric integral solutions of  $x^2 + y^3 = z^4$ ,Acta Ciencia Indica, Vol XXXIII M,No.4,1261-1265.
- [14]. Gopalan.M.A.,Anbuselvi.R,(2008),Integral Solutions of ternary quadratic equation  $x^2 + y^2 = z^4$  , Acta Ciencia Indica, Vol XXXIV M,No.1,297-300.

- [15]. Gopalan.M.A.,Vijayasankar.A and Manju Somanath,(2008),Integral solutions of Note on the Diophantine equation  $x^2 - y^2 = z^4$  , Impact J.Sci Tech; Vol 2(4), 149-157.
- [16]. Gopalan.M.A and Janaki.G.,(2008), Integral Solutions of Ternary quadratic equation  $x^2 - y^2 + xy = z^4$  , Impact Journal Vol 2(2), 71-76.